Mathematics and Statistics
Homework 1: Basic Algebraic Operations

Student Name: .. ...
Student I ...

Q1: Select the correct classification for each number

The number set
The number
N :Natural 7 :Integer Q :Rational I :Irrational R :Real
7 N W7 Q LI 4R
—15 N g4 = Q Or =R
Z ON 0z =0 Ol g3
3.75 ON 07 Ego) 01 Cgi
V3 ON 07 0OQ =T Egid

Q2: Answer True or False

For all real numbers z,y, z, m and n, then

10.

THY=Y+T o ﬂ\%\sgém_&:u (&)
(TY) 2 = (Y ) 2. e ( "
(T Y) 5 2= (T Y) = 2 o e ()
The additive inverse of ¥ is —2. —.).S_,:.-{a(/\a.é\&y& bl (o)
S S _
(z™)" = gmtn L ) Rl 852 A sop i Sae (X )
I = 2™ where z # 0. QF“'&‘Z)_/‘G—'QNNSKAM s \aln 2\( )
VZ +y =+ +./y, where  and y are positive. ........... ... . ..., (X )

VZTY = T\ /Y, Wherexandyare posmve .......................... (T
(x +y)° = o + 4 x-»axc;.*.ax&.*é ....... \__.c&d\)&( %)

K’\d&\
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Q3: Select the correct answer:

1. The additive identity of the real numberis ............

(a) 1 (b) 0 (c) -1 (d) none of these

2. The multiplicative identity of the real numbersis ......................

(a) 1 (b) 0 (c) -1 (d) none of these

3. The additive inverse of 5is ............ =5 & 2 ERE\ U:l"‘:)‘\\v‘sc-=’u
(a) -5 (b) O (c) 0.5 (d) none of these

4. The multiplicative inverse of % is.......... ‘%’ _9-& . %’ ‘-’-L)*’e)\ o ~9—c“"u
(a) 2 (b) 3 (c) 2 (d) none of these

(a) =100 +3z (b)300+z  (c) 100 — 300z (d) —100 + 300z

6. 10— .. Onz omr Aot O epae O\
(a) 100 (b) 0 ©) s (d) oo
7 (3) = N
(2) § (b) 3 (¢) 0 (d) oo
8. (22)0 = ... Lénluesh OB e
(a) 2* \ (b) (b) 0 (c) 1 (d)
9. 274 = ,_2,.,‘_'.
(a) 16 (b) (c) 8 (d) none of these
10. v/=27=.......
(a) 3 (b) -3 (c) -1 (d) It is not a real number
11. /=16 = ................

(a) 2 (b) -2 (c) -1 (d) It is not a real number
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12. Which of the following is not a polynomial?

(a) 2 + 2x (b) 2 + 22 (c)z2++z (d)2*>+1
13. The degree of the polynomial 23 + 42?4+ 5z +1is......

(a) 2 (b) 3 (c) 4 (d) 5
14. The degree of the polynomial zy + 2%y? + 2%y% is ... ...

(a) 2 (b) 3 (c) 4 (d) 5
15. Simplify: %—F% e

(a) 22 (b) 1 (c) & (d) none of these
16. Simplify: 5—2 = ...

(a) £ (b) 2 (c) ¥ (d) none of these
17. Simplify: 3- 2= ...

(a) & (b) < (c) 2 (d) none of these
18. Simplify: 3+ 2= ... ...

(a) 2 (b) 2 (c) 3 (d) none of these
19. Simplify: (A 4+2)7 =

(a) 3 (b) 2 (c) £ (d) none of these
20. Simplify % =

(a) 2 (b) 2 (c) 1 (d) none of these
21. Simplify: V324+V8—=V2=.. ... ...

(a) 3v/2 (b) 4v/2 (c) 5v/2 (d) none of these
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e VBUEE
22. Simplify: % =
(a) 3 (b) 2 (c) V2 (d) none of these
23. Simplify: (2z3y=3)(32%y3) = ........ ...
(a) 62° (b) 6z°y " (c) 627y (d) none of these
24. Simplify: 2545 =
(a) 2”‘?’2 (b) QZ# (c) 2x2y?2* (d) none of these
25. Simplify: /16246 = ......... ...
(a) 42?y? (b) 4a?y? (c) 4ay? (d) none of these
26. Factor: 22 —16 = ............ Q:"’—} \-ﬂ*‘cjﬁ
(a) (z —3)(xz — 3) (b) (z+ 3)(z + 3)
(¢) (x —3)(x +3) (d) none of these
27. Factor: 23 —8 = ............ \‘/‘-‘?&‘ . ::9\)’
(a) (z —2)(x +4) (b) (z — 2)(a® + 2z +4)
(c) (x —2)(x* — 2z + 4) (d) none of these
28. Factor: 2” +4x+4 = ..... Al - \‘l\-%/v‘\w(}:\\:ﬁ
fk‘g Yoo
(a) (x + 2)? (b) (x +2)(x +4)
(c) (x —2)(x +2) (d) none of these
29. Factor: 22 —5x + 6 = C\:\"J\WJA\ —n d"‘s’
(a) (z =3)(z = 2) (b) (z +3)(z —2)
(c) (z —3)(x+2) (d) none of these
30. Factor: 222 + bz — 12 :O:&kk_—%"*\\ —_— (_\’:‘_—s"

(a) (2x — 3)(x +4) (b) 2z +4)(x — 3)
(c) 2z + 3)(z +4) (d) none of these




